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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I",

"lopt’], ['T", "Topt’], ['RH’, "RHopt'], [ ETcl’

optETcl" ], '"LAI",

" optEtRate’ ]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800 —e— ECI

2600

2400 -

2200 -

2000 -

1800 A Warning: col ['ECC’, 'FVIEC'] is missing

30 40 50 60 70



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-3 0
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P3-3

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

07:10 273 150.0 2.583 |Z=| {Ri&e07:10 Bz (REEZEBE)
08:00 273 150.0 2.583 (Z=| {Ri%@08:00 Bzh (FAERSE)
09:20 273 150. 0 2.583 | =| {Ri%e09:20 B (KREZHE)
10:20 273 150.0 2.583 FA| 1Ri%@10:20 B3 (KRAEREE)
11:10 273 150.0 2.583 FA| FnHR@11:10 B3h (RAIERESE)
12:00 273 150.0 2.583 |/hfu| FhHEA@12:00 Bl (KREEZEHE)
12:50 273 150. 0 2.583 [/\A| FhHF@12:50 HEh (KAEESE)
13:40 273 150.0 2.583 [/\ili| Fi#He13:40 Bz (RAEZSE)
14:30 273 150. 0 2.583 [/\i| FHRe14:30 Bz (GkAERE)
15:25 273 150. 0 2.583 |[/\A| FmHFe@15:25 BHEh (KAEESE)
16:30 273 150.0 2.583 [/\ifi| FiHRe16:30 Bz (FRAERHSE)
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BRI\ SEPRGERL145. 0 ml.
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P3-3

BfE) | GEBATIK () | s (ERH/#F) | EBREE (B/R) | X5’ R

05:55 283 150.0 2.583 FH| {RRi&@05:55 Bz (FRAEESE)
06:55 283 150.0 2.583 FH| 1RRi&@06:55 B (FRFAERESE)
09:10 283 150.0 2.583 FA| 1BRi%@09:10 B3h (KRA{EREE)
13:00 283 150.0 2.583 FA| {Ri%@13:00 Bz (GRAERE)
13:50 283 150. 0 2.583 FH| 1RRi&@13:50 B (RS
14:50 283 150.0 2.583 FA| {Ri%@14:50 Bzl (GRAEEE)
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P3-3_0, Day=75 (2025-06-12)
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P3-3

BfiE) | GEBAK (R | EHE (EAR/HK) | ERERE (B/R) | KR R

07:05 283 150.0 2.583 & 1Bi%@07:05 B3h (kBIEREE)
07:50 283 150. 0 2.583 & ’Ri%@07:50 Bzh (kRAERESE)
09:05 283 150. 0 2.583 & ’R1%@09:05 BHEh (KAERKSE)
09:55 283 150.0 2.583 5 B21%@09:55 B3h (K BIEREE)
10:35 283 150.0 2.583 5 B2i%@10:35 B3zh (RPBEREE)
11:10 283 150. 0 2.583 5 BRige11:10 Bzh (REERESE)
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